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KNOW and MEMORIZE slope formula:

Y2—Y1
X1

Topie 5¢ Parallel, Perpendicqlar, or neither?l

and slope-intercept form: y=mx+b

For questions 19-21, detesmine if AB ind'a;m mﬂeb perpemdicular or neithor.
18. A(-11, 5), H(-ﬂ 4), q&: -7}, D('lr "4] —F 7
AB: p: Slopa of AB | Slope of CD | Types of Lines
me 45, . o :4-=1 .3 -
TR s o e S s I
20. A(-3, 8), B(1, 15), CY10, -9}, D3, -5) —
e 152 . 7 we 629y Slope of AR | Siope of CD | Types of Lines
13 ;—m 1 :EF -i:!r A {A@r/e
|21 A(9, -3), B(9, 4), C(-2, 10}, IX-2, 6} gy =
me Hev3 . W; e Slope of AB | Slope of CI | Types of Lines
aq - s -2~z ‘
9-9 ) wndet. | wndet. | 1l G

For questions 22-25, detarming if the lnes are paraille), perpendicular or neither.

22, 6x+ 10y =200am Sr—3y =21

28, x—-p=4amdx+y=9

Dnz-t2o  -3gs-oxt2) | Yexed  Y=ERed
‘%= +2 §5= -1 ‘1@4
P&pm(?ituﬂtlv m f&/’m&cm{@r 1.

24, 2~ 5y = 30 and L0y = 2%+ 90

"53" +Zo q@ﬂ
4

25 y=58m x=«2

/ /\_,v(w}’O\Q ﬂlﬂg’
vertex! | ,r f‘
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prtlX (it ]

] 1
T L |
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** Il means parallel and L means perpendicular
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mX+L

= Ll-6)Y,

l I——S%

X, %

Xz Yo

26, Writa a Enear squation that passes tllm h

Fbﬂc& Wrlting Lizmrﬂggg_thns
the point (-6, 1) with 2 dope of ¥ .
. X m

27. Write a finear equation
e paints (3, 1) and (-2, 6).

m*..{‘.’...!—_. =
N

thit passes tiwough

j-/’\k“*l

'w"b(“l‘”'
REG

Write equation of circle equation:

= fhK)

(h, k)

Ghen
Chrolmference/ fvea
t=mwd (=2nr
Astr®

12! W; {‘fy‘i)
Circumference: 6z d=le, €573
C=2mr Lqz2m r=3

AN+ gy H) 220

13. Center: (9, 12)

/

Citcumference: 17x  d=171, re

(x-a)> +(y-12)” = 7225

14, Center: {-8, -11)
Area: 36 =}

(X+8) 2+ {y ¥ D> =14

1E. Center: (2, -3)

Area: 361z v= 34l

(- Hy+D2 =30

C=
(Fn=2rF
Ls=YF
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—

@ﬁny[ rao":uj r
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Write equation of circle equati
Guver\ Cﬂn‘{’ér dw poM’ v <IY‘?I- K X t //“) iy o
C X ) + ( <R = 10. Center: (2 -6); Pcmton cirde: (1, 0y & "" ZDW“
J (x-bY 4 (ykY = 257= "
2 E 2
(1-2)+(r0--6)=t" | [(x-2) *(j*@ gs#
| + 165 =v™
L. Center: (2, 0 Pointon Circe: (2, -4) [ //\6[
X+2) +(y- 5
(x’~AJ+[ k) =t | Piy= C ) | )
[71*1)*( ST = 55'—— r*
h k X 4
8. Center: (9, 10), Point on Circle: (7, %)
Givenive Cenfer and | (x-h)* N T
avontonte Croe |( 7-9y%+(a-to)=r"
2 2
2+ 6T
h ke - xy

9. Center: (1, -5), Paint on Circle: (-7, -13
(X—l\) t [3~k) '::.r‘ 7?

..:) +(L5 /38

(_?-')2+ (-'3+5)2,: {1
g+ 5% =

125 = \’Z
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